Preparation

Considering the Hill equation in the simplification DDEs, Al.; and K1/ 92 should be the same

order of magnitude, thus Ky /4 is a well measurement of quantities of 41.,. We have:
[Al.,]~ Kna/ps
Similarly,
[A2¢:]~ Kpa/ P2
In equation (20) (23), Let:
dAl../dt =0,dAZ2_,/dt =0
We have:
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In equation (24) (25), Let:

dAl./dt =0,dA2./dt = 0

We have:
Kps p1-p-(1+ny,)
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The dimensionless equations are as follows:
d—t:=—{a+1}-x1+{1+a}-xs (26)
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dx u
dt: =—(u+{14+n,)-v)-x,+(14+a)-vn;-x,+(1 +a}-u-(1 +;)x2 (30}

dy, u
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